PROFESSIONAL EXAMINATION BOARD

Group-2(Sub Group -4) Labour Inspector and other equivalent post
Recruitment Test
9th January 2017, 02:00 PM
Topic:- General Science

1)
Question Stimulus :-

The working of human stomach was discovered by / {19 UT &} HTAYUmelt & aR A
= U ST AT

« Charles Darwin / IT& STfdq
e Charles Babbage/inﬁ‘faﬁﬁr
« William Beaumont / faferaw sgiie
e William Harvey/ﬁﬁﬂ'ﬂ%ﬁ
Correct Answer :-William Beaumont / faferaw sqafe
2)
Question Stimulus :-
World water day is observed on / fd% 5@ Rag wmrsmars_ |
« March 21 /91921
« March 22/9Td 22
e June 21 /3[d21
e June 22 /Y122
Correct Answer :-March 22/ HTd 22
3)

Question Stimulus :-

An image is formed behind the mirror. The image is erect and of the same size as of the object. This image is

formed by / Ufafds, gdor & Fid 391 81 wfafds, fem 3R 0 3MHR 181 g8 vfafdd 596 gRT 991 T 8
« Convex mirror/ I&d gUUT
« Concave mirror/ 3@dd g4ul
« Plane mirror/ g9dd gUul
e Both (A) and (B) / (A) 3R (B) I

Correct Answer :-Plane mirror/ JHdd E'l'fUT



4)
Question Stimulus :-

The instrument used to measure the speed of wind is called / arg & a7 &I AT & AT
WA fopaT ST aTeT O wedral 8

« Ritcher scale / f¥&e= BqmT

e Anemometer /QT-ﬂTﬁ'FﬂE? "dad aTITITtﬁ)
e Barometer /SR (HTQE'WTI'ITﬂ)
« Thermometer /YATHIER

Correct Answer :-Anemometer /Q‘ﬁ"ﬁ"ﬂa {4aqd a"TFITlﬂ)
S)
Question Stimulus :-
Identify the INCORRECT statement / Teld FY gAY
e Virtual images can be seen on the screen / BB TR YR yfafdal &) a’@T ST b dl %I
e Light can travel along straight lines / UYh TR, et aren d g $Y ol %I
e A shining surface acts as a mirror / IHDH R Hdg, Sdur &t GRS T Hl %I
e Concave lens forms virtual and erect image / fdd¢l aT\‘T, SMYRA 3R e ufafde s ma %'I
Correct Answer :-Virtual images can be seen on the screen / TPIH U JTURI gfafdsl ) @ s IFar 2|
6)
Question Stimulus :-

It is advised to plant eucalyptus trees all along sewage ponds. This is because these

%;:es / Y gerg & STt g fop el & Us, qifgana draral & fH=R Tme sme| 39T sHfe wife &

e increase the aesthetics / '\‘ﬁﬂ'& o Q'@ W %'I
* remove the bad odour / gﬁ Y B [+ T@d gl
e absorb CO, / T SZATFASS B! AT B &1

e absorb waste water and release pure water vapour into the atmosphere. / i} 'ﬁaﬂ"\ﬁ'ﬂf A B gRad % 3R
qTaTaRYT # Y[ el a1y o1 Refis #2a B

Correct Answer :-absorb waste water and release pure water vapour into the atmosphere. / ¥ ‘ﬂﬁﬂ"\ﬂ'q A B

HIEd € SR araraRor # Yo Sfer a1e7 ) Refier e 2
7)
Question Stimulus :-

The main cause of wind movements is the /W'@iﬁﬁ?fﬂ'ﬂ@w%



Air pressure / dIgqld
Radiation / faf&zor

Uneven heating of the earth /1]25?[ DT HHATH d1a-d

Evaporation /drtqq

Correct Answer :-Uneven heating of the earth /tBZﬂ DT HHTA d19qd
8)

Question Stimulus :-

Baking soda is used to neutralise the effect of ant bite. The ant bite contains / a'ﬁ)_ﬂ TSI BT YART did) HTed &
THTT B! F3RR B & e fparemar g1 Hif s d < ¥ ugT war gl

« Acetic acid / gffe® s

e Formic acid/ﬁmﬁ?m

« Sodium carbonate / 9f$aq HTalHe

« Sodium bicarbonate / If$UH FTgHIa AT
Correct Answer :-Formic acid /ﬁ%?ﬁl@'
9)
Question Stimulus :-
Lichen is an example of /?IT%%’_"I WTSFTBETGTUT%

« Parasitic relationship / WRelldiGay

« Symbiotic relationship / 9gsildl GaY

« Heterotrophic relationship / Ut} &y

e Saprophytic relationship / 'Hjﬁ'qTrﬂ'Cﬁ qdY
Correct Answer :-Symbiotic relationship / dgeiidal A&
10)

Question Stimulus :-

This indicator turns solutions which are acidic to dark pink and solutions which are basic to green. Identify the

indicator/WWﬁaﬂaﬁ,Fﬁ'ﬁ?m%WWWﬁmaﬂT%@ﬁﬁqﬁﬁ% &ﬂﬁq%,ﬂﬁ@?ﬂﬁ
TG ol ¢ | AP B UM

Litmus / foreas

Turmeric/ Eﬁﬁ

China rose/il'l?FlTﬁTrl
Phenolphthalein /Wﬁq



Correct Answer :-China rose / dIg-Il A

11)

Question Stimulus :-

The pancreatic juice is capable of / SITIIRIA I Eﬂﬁ e g -

¢ breaking down carbohydrates and fats into simpler substances / 3’7@.{?133? 3R T B WA Tt o
faufora s

e breaking down carbohydrates, proteins and fats into simpler substances / Wﬁ?'@?, WA 3R a1 HY
TR Tt | fawnforg s

e breaking down proteins and fats into simpler substances / M 3R T B TR W'zﬁﬁ' fawnfora s
e breaking down only fats into simpler substance Rk a1 ®t WRa W’lﬁﬁ fauTfora s

Correct Answer :-breaking down carbohydrates, proteins and fats into simpler substances / W@E’, e

3R a1 F WA Ul | fyuifora s
12)
Question Stimulus :-

A compact disc (CD) is capable of reflecting light .The reflected light consists of / T®h
Frige fsw @IS, wradf yem= o1 gxifdt 81 wrafda yerwr & gid 82

Seven colors / 91d 3T

Five colors / O ¥

Three colors / dIF &

Eight colors / 318 I

Correct Answer :-Seven colors / ITd T
13)

Question Stimulus :-

Thomas Alva Edison invented the / UTHY 3iedT 'Q:‘ﬂ'\‘lq 3 &1 TfIhR fpar

e Electromagnet /ﬁgﬂﬁw
* Electric bulb / fasielt &1 ge

« Circuit/gfde

« MCB/ THH
Correct Answer :-Electric bulb / faorelt &1 3e8
14)

Question Stimulus :-



The electric bulb starts glowing because /WWWWWW%W
e of the presence of air inside it / ITP ma?w@rﬁrwa? DHRUT

light falls on it / 39 U YHTR USdT &

the filament of the electric bulb gets heated to a very high temperature / foorelt & se@ &1 T‘Iﬁ 3 dl¥ IR
TRH B 1 8

the filament inside burns / Glﬂ?aﬁ ST dl %

Correct Answer :-the filament of the electric bulb gets heated to a very high temperature / foorelt & s &1 ?‘Iﬂ
S A9 UR TRY g1 1T 8

15)
Question Stimulus :-

are called spherical mirrors / el E.'TfUT Wﬁﬁ %l

Convex mirrors only/ 19 Bc_cIFIE'CfUT

Concave mirrors only / it sradd gdur

Convex and concave mirrors / 3«ddd Gﬁ? ama?ratfw

Plane mirrors /\‘I’H?IFTE‘&UT
Correct Answer :-Convex and concave mirrors / 3ddd G?R GIWE,"&UT
16)

Question Stimulus :-

Blood contains cells which help fight germs. These are the / Yok H aﬁw Eﬁ?ﬁ % Tl mﬁﬁ' I ?I?,ﬁ i Haq
A EIAE

White blood cells / T ¢ TR BIRABTY

Red blood cells / @@ R SIReE
Platelets / Wicaed (@Y Ufg®)

Plasma / &iTeHl

Correct Answer :-White blood cells / b G Waﬁﬁm‘é

17)

Question Stimulus :-

Bile juice, which plays an important role in the digestion of fats in the human body,

is produced by the / 0" ¥ g, St 7919 YRR & 9971 & U # U gyl Yf¥rer fAurare,
g1 ffRfa g

e gall bladder / TO=ITRIA
e liver/dopd



e small intestine / DIdY 3fid
e stomach / ATHIR™
Correct Answer :-liver / 9%d
18)
Question Stimulus :-

Identify which among the following can neutralize an acid? /ﬂ?ﬂﬁqﬁ?ﬁﬂﬁﬁ 3T B
S FroguTiaa &= 9T 82

e Water/dld
e Magnesium hydroxide / ﬁm_&'@ﬁ'ﬂ@g
e Vinegar | RIzeT
« Sodium chloride / WIf$TH RRTFS
Correct Answer :-Magnesium hydroxide / ARy BE@IWIEE
19)
Question Stimulus :-
Activated sludge comprises of / Tfepfa 3 o e giar %I
10 %water / 10% UT-il
* 75 %water / 75% UT-t
95 %water /95 % Tl
50 %water /50 % Tl
Correct Answer :-95 % water / 95 % UI-t
20)
Question Stimulus :-
Identify the INCORRECT statement on heat / HHI UX A d DU Cal q?ﬂTﬁ'Q
e Heating causes rise in temperature / HHI ¥ dTH dedl %I
Solids undergo maximum expansion due to heat / 31 H ST & FRUT SHfYpan fwr ﬁ?ﬂ %I

On heating, substances undergo physical changes /W?ﬂﬁtﬁ’, yerdl # ifaw
uf¥ad= g gl

On heating, some substances catch fire /TR'F[?F@[W, Wtﬁ,’l?ﬁﬁ' GTFTWTE'IT-ﬁ%I

Correct Answer :-Solids undergo maximum expansion due to heat / 31 ° ST & FRT ffrmad fawar gidr

gl

21)



Question Stimulus :-
Tooth decay is caused due to / &d & BT HRUT &

Acid formed by breakdown of sugars on the leftover food by bacteria / S&f¥ar
ERT 99 §T HIoH W IR & AT A 997 3R

Base formed by breakdown of sugars on the leftover food by bacteria / ST
ERT 99 §T HIeH W IR & AU A 991 4IRS

Bad eating habits / @ B g‘ﬂ 3red
« Gum disease / A > P FAN

Correct Answer :-Acid formed by breakdown of sugars on the leftover food by bacteria /

IRITAT gRT 72 §T YIS R IFR & AU o F4T 3
22)
Question Stimulus :-

Which among the following is NOT an example of chemical change? / fada ﬁq, INafE aRadT &1 Uh
SETERT TEl & |

Respiration /a4

Digestion / Urd-

Crystal formation / foed =T

Rusting / ST &A1

Correct Answer :-Crystal formation/ foowea T
23)

Question Stimulus :-

The device used by a doctor to amplify the sound of the heart is / gIedle (83T W) F1 @[ HuRafffa s &
forg Siee? grT 39 93 ®1 w4 fPar w8

. Glucometer/1?j?lﬁ'l=i:|2'\r
e Stethoscope / TYHIY
« Ventilator / dfedex

e Incubator / AFEER

Correct Answer :-Stethoscope | RYHIY
24)

Question Stimulus :-

A convex lens / 3&d a9

« Diverges light falling on it / 39 W US: I8 UPHT &I U HdT 8



e Converges light falling on it / SH R UsS:; T8 Ut B SfUaTia #ar g
e Has no effect on the light / BT YBIRT waﬁé YHId =re?rut=:?n
« Bends it outwards / 3§ qT8R &I qRB APTdl ?
Correct Answer :-Converges light falling on it / 39 WR US: I8 UHT & AfHITRa a1 8
25)
Question Stimulus :-
In neutralization reaction, / FrrervTe erfuferar # -
« A salt is formed / &9V ST 8
« Acid is formed / 3% 94T 8
« Base is formed / &R 471 8
e Acid and base are formed / 3% Ud &R gl %
Correct Answer :-A salt is formed / &dUT §-7dT 8

Topic:- General Hindi
1)

Question Stimulus :-
YIS + AT = [XAbTery - fd ft P Ierewur 82
o JU
. &Y
- If&
o YuUI
Correct Answer :-&¥f
2)
Question Stimulus :-

fra v d Sor vaa T8t @

Correct Answer :-ﬁ'aFIT

3)



Question Stimulus :-

ERT BT fardtards zreg garsa |

o YAl

Correct Answer :-3Ydl

4)

Question Stimulus :-

3a Ryt geray o1 3 2-
o gd {1

RIGRSACIE])

qTd U

U8 W 1Y I a1

Correct Answer :-dTd QUIl
S)
Question Stimulus :-
TS BT UGDHT” YeTax BT A §
. 33'-:;::2??[ ﬁrl%m LEEIEE
o fur g quraT safda
o YA BT
o YT YHTA PR 3G
Correct Answer -8 FHHTS T ITT
6)
Question Stimulus :-
CANCELLED
FafifT T s FUe -
3T 3TY ST HHdl g

o 3[d 39 T bdT &l |



o 39 3TY AT T d B
o 31T 39 ST H&d Bl
o 3 39 T THd §
Correct Answer :-3[d 3T ST A&d & |
7)
Question Stimulus :-
R I T Il S AT TR
o g+ amsmm
o o+ amam
o fUaw + amsm
o fUa + 3Mm3
Correct Answer :-fUq + 31T
8)
Question Stimulus :-
ferams’ w1 & ygad wey ven -
. §
.
- 3
o fo
Correct Answer :-3(T§
9)

Question Stimulus :-

o i | Hdod UTe T B P~ 3 3P eg & T IR T W5 T

Correct Answer :-ﬁﬁlﬁmﬁ%

10)



Question Stimulus :-
IS Tt BT Tgq B
o ST
o Y:YdH
o MU
o STY:TdH
Correct Answer :-3Y:Ud-
11)
Question Stimulus :-
Fora wit 1 ufar aTer &Y & fig Sugew v B
o SIRAA
o Uifraufae
o UG
STUTdhd
Correct Answer :-HifSaufaeT

12)

Question Stimulus :-
wHHe T Iuat &
. q
LI |
. WG
. TP
Correct Answer :-9
13)
Question Stimulus :-

CANCELLED
QT § WA B
R o 1 KT o
. Tgslife



o FUHYRY
Correct Answer :-aga“l%
14)

Question Stimulus :-

TgRTS’ § U 8-

Correct Answer :-3IT§
15)
Question Stimulus :-
e | @ snerfayrr o1 sy faus g9 -
o 30 H fayry
o A SR fayra
o A R fayr
o STYH I T
Correct Answer :-3709 TR fayry
16)

Question Stimulus :-

SR 3R FAIRIS & IR & T 3ax giaT 82
o TR #gar He' A Feadl 8, Safe sgaRe § ga1 1% A Faad g
o« IFWR # gar A | Foad 8, STafd g & gar 1 3R g 3 @ et 81
o IFER A g1 Yo' & Frperd 3, Safd srgifire d ga1 11 3R Ho* 31 & Fperd 31
o IR ¥ gal AP’ | fFAwadl 8, Safd g o gar gg I Foadt g1
Correct Answer :-3JR # gal <7TId° A Fwad! 8, 9afd gaiie ® ga1 < 4R Yg’ gt & Rt

gl
17)

Question Stimulus :-



=1 9 @ i o1 amie faus gihe -
o IPra gRI difsd
o 3Ta § WfSd
o 3T | Wfsa
- STYH IS TS
Correct Answer :-3(®Td 9 Uifga
18)

Question Stimulus :-

& A P11 fher, TSI 9T IR 3T TP 39 ygigar g ?

Correct Answer :-83IaX
19)
Question Stimulus :-
TS ¥ Tni iR 3 Y@ifea v & ore 31 faufad wgarfe
o PRV PRD
» HYGH PRSP
o UG PRSP
o Y PRD
Correct Answer :-3UTql- PP
20)

Question Stimulus :-

IR & YR R o1 & fha Agad &2
o 1
o 2

e 3



Correct Answer :-4
21)
Question Stimulus :-
AFY BT Tigar -
o ST
o PN
. TR
o Y
Correct Answer :-H3Tg1-
22)
Question Stimulus :-
T Ppd P Te, Mg T W e § dead e
o T
e dgHd
. QXS
o faczme
Correct Answer :-TeTH
23)
Question Stimulus :-
Ao e A
« U 98 dS. @ ¢ fora® gfera A uspsoot ATl
o T TG TSP § TAD! Yo A UHS 0T YTl
. R oA TS T AT TE I TSR |
o THD! YR A UBS 01 4T IE TG ASOHI @ |
Correct Answer :-Ug dg! @S, ®T 8 fora®! gfera A udws o1 Ut
24)
Question Stimulus :-
“YTId BT 3rdid 41> Yo wIF 3 gfd & T «<1Ra “x1eg &1 TE =9 I 1 BRI
o TRar<aa



Correct Answer :-TRaquf

25)

Question Stimulus :-

CANCELLED

& a1 31 A Sifes UTg it b TANT A DI L fpar gt B2
o 3@ fpan

HpH® fopdar

agad fomar

gifire fapan

Correct Answer :-TRT® f3paT

Topic:- General Mathematics

)

Question Stimulus :-

The circumference of the base and the slant height of a conical cup are 8™ cm and 8 cm respectively. The depth of

thecupgxw*ﬂﬁmm%aﬂwaﬁuﬁﬁmﬁﬁwmm: 87 9t vg 8 G 81 U B!

4V3 em / 4V3 T

3V2em /323,
2V6 em / 2V6 .

4V2 em /7 4V2 3.

Correct Answer :-4V3 ¢m / 4V 3 T,
2)

Question Stimulus :-

1 1 1 1

If a=2+V3 and b= 2-43 , then the value of aZb + ab2 = /'i:l'%a=2""'~"'E Td b= 2-43 , dd a2b + ab?
BTHM =

e 6



. 2»’5

e 4

. 9V2
Correct Answer :-4
3)

Question Stimulus :-

The quotient obtained, when 21""'?5 is divided by V12 , is / ol 21""' 75 Cal V12 ¥ fyynfora fosar sirar %, GRS
HITHh:

e 5
V15
V5
e 10
Correct Answer :-5
4)
Question Stimulus :-

If the equation x? - bx + 9 = 0 does not possess real roots, then / gfe BT x2 - bx + 9 = 0 3fTfdse

amﬁﬁtmﬂﬁ%,aa

e -6<b<6

e b<9
Correct Answer :--6 <b <6
S)
Question Stimulus :-

The value of 'm', for which the system of equations mx + 2y = m - 2 and 8x + my = m, has infinitely

manysolutlons,ls/'\‘:l'mex+2y m - 23ﬁT8x+my maﬂ%ﬂ'{ m’ WWWW
Fdd: TFUA DL g

e 4
e 6

e 9



e 8
Correct Answer :-4
6)
Question Stimulus :-
The range of first 12 numbers divisible by 7 is/ 7 ¥ faursa wyw 12 JEImsh 1 R % :
* 66
o 77
* 67
e 76
Correct Answer :-77
7
Question Stimulus :-

The mean, of first 6 three digit number divisible by 2, is / 2 A fqurfera 3-1% arett m 6 I 31
qTell TBATSHY BT HIE B:

e 106

e 103

e 105

e 108
Correct Answer :-105
8)
Question Stimulus :-

If the product of zeros of the polynomial f(x) = ax> + 4x? - 2x - 6 is 2, then the value of 'a' =/ afe dgUcq f(x) =

ax3 + 4x2 - 2x - 6 & Y| BT UFEH 2 §, 99 ‘a’ BT A 8:

Correct Answer :-3
9)
Question Stimulus :-

In triangle ABC, £ZA : ZB: 2C=4:2 : 3. Sides AB and AC are produced to P and Q respectively. If the bisectors
of £PBC and £QCB intersect at ‘O’ , then 20 = / @i ABC ﬁ, ZA:/B:2C=4:2:3 %I 'ﬂ\_l‘lTQ'AB 3R AC BT



PHHI: P 3R Q W 9T Wl &1 afe £PBC 3R 2QCB & f§HIS® <0’ TR Ufd=d¢ HYd &, @ 20 =

il
B C
P': '
0 O
e 700
e 80°
e 500
e 600

Correct Answer :-50°
10)
Question Stimulus :-

A conical tent accommodates 10 persons. If each person must have 6 m? of the space on the ground

and 18m? of air to breathe , then the height of the tent is /WWﬂﬁ 10 ?ﬂ%?_s'ﬂﬁ%l
gﬁmwﬁraﬁ@wmﬂazmqﬂﬁﬂaﬁ%m 18913 gar Tifeu, ot aig &t SHars

e 12m/ 12 Hiex

e 15m /15 Wex

e 10m /10 ez

e 9m /9 TR
Correct Answer :-9m / 9 Hlex
11)

Question Stimulus :-



In the adjoining figure m||N and if the complement of £ 3 is equal to the supplement of £5,
then 28 =/ Feldel To A m||n § 3R TG 23 T Teh, £5 F ARk & THA b, O £8 =

1259

1059

1350
e 115°
Correct Answer :-135°

12)

Question Stimulus :-

A bag contains white balls numbered from 1 to 3 and red balls numbered from 4 to 10. A ball is drawn at random.

The probability of getting an even numbered red ball is / T Iq # 1 A 3 9P JEnfepd m ﬁ% LLG| §‘§ % Td 4
¥ 10 9P TWMfHd ATd TS I 53 ¢ | TefD® P | e e B AeTar oar 8 | I e aredl ard i &
e It wilkea :

1
2

LA ba

LA b

Correct Answer :-
13)

Question Stimulus :-



In the adjoining figure ZADC and £BDC form a linear pair. If 2a — b = 30°, then ‘b’ = / AT mﬁ £ADC

3R ~BDC WP TH T B |
fE 2a — b =300, @ b’ =

. 95"

.« 70°

o 110°

« 100"
Correct Answer :-110°
14)

Question Stimulus :-

3x . céx Ac16 , . c3xr . c4xr -1
Find the value of 'x' in the following : 5% + 5% _N5 /ﬁql%r@aﬁ‘x’mnﬂmaﬁ: 5% + 5% _W5

Correct Answer :--4
15)

Question Stimulus :-

A ticket is drawn from a bag containing 200 tickets. The tickets are numbered from 1 to 200. What is the

probability of getting a ticket which is not a perfect cube? / §h fewe &1 200 fewel & ad # A HpTan
gﬁ@%lﬂ%ﬁg’fﬁmﬁzoowm%l ot fewe & T &t wikear w1 & o T
U ?

39
20

ar
50



21
45

&7
55

g

40
Correct Answer :-

16)

Question Stimulus :-

The radii of external and internal surfaces of a hollow spherical shell are 6cm and 3cm respectively. If it is melted
and recast into a solid cylinder of height 7cm, then the diameter of the cylinder is / Y& GRad MATHR HI
D 1T TG SATdi¥d Yui o1 Hear U 6 I ve 3 9t 81 afe 5% fraares 7 9t S8 g e
3T S § 91 foran S 8, 3rd: 59 9o 31 T 9d1s¢

o 8cm /8T

e 12cm/ 129t

e 9cm /9

e 14cm/ 14397
Correct Answer :-12cm / 1234
17)
Question Stimulus :-

If (x+y)=2a and xy=2b,thenx2+y2 in terms of ‘a’ and ‘b’ is /qﬁ(x+y)=2a3ﬁ?xy=2b%,?ﬁ"a’3ﬁ?'

‘b’ F Y H x2 +y?2 él‘ll

2a2 b

e a2_2pb

4(a - b)

4(a2 - 2b)

Correct Answer :-4(2\2 -b)
18)

Question Stimulus :-

4 dozen mangoes are there in a box. If 6 mangoes are rotten, then the probability of choosing a good

r%nango is / U SIa § IR goi-l 3T 8 1 Tfe 6 3 IS §U B, O U SI<ST 3T I o 3t UIipar



==

11

21

Correct Answer :-ﬁ
19)
Question Stimulus :-
In an A.P if a = -10, ag =11, then d = / U TJHIdR ARIGUT (A.P) H ¢ a =-10, ag=11, A d =
* 5
e 4
« 3
¢ 6
Correct Answer :-3
20)

Question Stimulus :-

5211+1 — 52]’1 1 52]‘14‘1 —_ 52]‘1 l

If = 52=ﬂltn{m—n}=f?ﬂ:d =

GE2M o 22 2 2T 452 252

. dl (m—n)=

Correct Answer :-2
21)

Question Stimulus :-

——==/1fCat ==, = HALI=

-3
vatt Ve ttx

IfCot & =E . then the value of



° COSEl

e sin g
e cosec ?

L secg

Correct Answer :-sin g

22)
Question Stimulus :-

A cylindrical bucket of height 24cm and base radius 12¢m is filled with soil and then emptied it on the ground to

form a conical heap of height 18cm, then its radius is / 24 ﬁfﬁ”mré @ 12 ﬁ'lﬂ an%n?ﬁvmaﬁﬁw SAATPR
w%mgg%ﬁ;m%@msﬁ@wmmmammwm A YHTPR ¢ & WL,
3(d: :

e 36cm /36 TN

e 24cm /24 9L

e 30cm /30 |

e 22cm /22 ¥
Correct Answer :-24cm / 24 9T,
23)

Question Stimulus :-

The lengths of three sides of a triangle ABC are 8cm, 4cm, and 6cm. APQR ™ AABC and if one of the sides of_
APQR is 24cm, then the greatest perimeter possible for APQR is / b Ao ABC 1 1 ‘ﬂ\_rlTGﬁ' 3| ?W'Ig'CIT 8

I, 4?@6%%1 APQR ™ AABC U4 Gf¢ APQR @} TH YT 24 A B, A APQR HT JUTAd HaH FT

e 72 cm/729HL.

e 108 cm / 108 TH.

o 120 cm /120 9.

¢ 68 cm /68 T,
Correct Answer :-108 cm / 108 I,
24)

Question Stimulus :-

If 2 is added to each of the two given numbers, then their ratio will be 1 : 2. If 3 is subtracted from each of them,
then the ratio will be 2 : 5. Then one of the two given numbers is /TI'% ﬂ T a’ H@Tﬁﬁ "2 dl \_rﬁGT NIGLH %, ar
IASBT AU 1:2 TR AfS ST FTeil & | 3 Y gern f3ar oI, at SuTd 2:5 81 SN 3ra: & Tt gf
TEmed ¥ @ U d.I @



o 28

e 11

e 31

e 17
Correct Answer :-28
25)
Question Stimulus :-

If the areas of the three adjacent faces of a rectangular block are in the ratio 1 : 2 : 4 and its volume is 1000cm?3.
The measure of the longest side is / ¢ Th MAATHR WS & I UG BAD| BT GG 1: 2: 4 S U |
€ Ud 3UST S 1000 T B 1 @ TN Al YT BT HIY 8-

o 10 cm/ 10 T
o 24 cm /24 9.
e 20 cm /20 I
e 12 cm/ 12 99
Correct Answer :-20 cm / 20 9T,

Topic:- General English
1))

Question Stimulus :-

Choose the option that best transforms the sentence into its Direct / Indirect form:

The teacher will say, “Open your books.”
e The teacher will say us to open our books.
e The teacher said us to open our books.
e The teacher asked us to open our books
e The teacher will ask us to open our books.
Correct Answer :-The teacher will ask us to open our books.
2)
Question Stimulus :-

Read the sentence carefully and choose the option that has an error in it:

It is the dream of every mountaineers to climb the world's highest peak.

e It is the dream



e of every mountaineers

e to climb

e the world's highest peak.
Correct Answer :-of every mountaineers
3)
Question Stimulus :-

Choose the option that best transforms the given sentence as directed:

Their glory can never fade away. (The interrogative form of the sentence)
e Never can their glory fail?
e Their glory can fail?
e Can their glory ever fade away?
e Cannot their glory never failed?
Correct Answer :-Can their glory ever fade away?
4)
Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

He will not be taken back he apologizes to the other players.
e although
e unless
e in order that
e because
Correct Answer :-unless
)
Question Stimulus :-

Choose the option that best transforms the sentence into its other voice:

The filter must be changed every six months.
e Change the filter every six months.

¢ You must be changing the filter every month.



e We must change the filter.

e Changing of the filter must be done every six months.
Correct Answer :-Change the filter every six months.
6)
Question Stimulus :-

Complete the sentence choosing the right form of Prefix:

Itis time to _____new the book that I borrowed from the library.
o pre-
® post-
e re-
o a-
Correct Answer :-re-
7
Question Stimulus :-

Choose the option that best punctuates the given sentence:

The sales manager Mr Jayaram is in a meeting
e The sales’ manager Mr. Jayaram is in a meeting.
e The “sales manager” Mr. Jayaram, is in a meeting.
e The sales manager, Mr. Jayaram, is in a meeting
e The sale’s manager, Mr. Jayaram, is in a meeting
Correct Answer :-The sales manager, Mr. Jayaram, is in a meeting
8)
Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

He was standing the door and listening attentively.
e against
e between

e back of



e besides
Correct Answer :-against
9)
Question Stimulus :-

Choose the option that best transforms the sentence into its Direct / Indirect form:

Would you like a drink?

e He asked me to drink.

He asked me if I would like a drink.
e He requested me for drink.

He told me to drink.

Correct Answer :-He asked me if I would like a drink.
10)
Question Stimulus :-

Choose the option that best transforms the given sentence as directed:

He is a proud man. (The negative form of the sentence)
e He is not a proud man.
e Never is he a humble man.
e He is not being a proud man.
e He is not a humble man.
Correct Answer :-He is not a humble man.
11)
Question Stimulus :-

Choose the option that is closest in meaning to the highlighted word in the given sentence:

That ornament has enhanced her beauty.
e exhibited
e increased
e decreased

e impressed



Correct Answer :-increased
12)
Question Stimulus :-

Choose the option that best fills in to complete the given sentence::

Shruti usually to Goa every other month.
e went
e is going
* goes
e has gone
Correct Answer :-goes
13)
Question Stimulus :-

Read the sentence carefully and choose the option that has an error in it:

It is very obvious that his parents disapprove him intention to fly at such an early age.
e It is very obvious that
e his parents disapprove
e him intention to fly
e at such an early age
Correct Answer :-him intention to fly
14)
Question Stimulus :-

Choose the option that best punctuates the given sentence:

Unfortunately the train arrived late and I had to leave for office
e Unfortunately the train arrived late, and I, had to leave for office
e Unfortunately, the train arrived late and I had to leave for office.
e Unfortunately the train arrived late, and I had to leave for office.

e Unfortunately -- the train arrived late -- and I had to leave for office.



Correct Answer :-Unfortunately, the train arrived late and I had to leave for office.
15)
Question Stimulus :-

Choose the option that best transforms the sentence into its other voice:

The software was not tested.
e We did not test the software.
e We had not test the software.
e Nobody tested the software.
e We had not tested the software
Correct Answer :-We did not test the software.
16)
Question Stimulus :-

Choose the option that best fills in to complete the given sentence::

Akshay up at 6 o’clock every morning.
e gets
e will getting
e will got
e has getting
Correct Answer :-gets
17)
Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

You were bad; you are being punished.
e however
e because
e therefore

e but



Correct Answer :-therefore
18)
Question Stimulus :-

Choose the correct form of verb that is in agreement with the subject:

Politics a risky profession.
* is
® are
e is being
e are being
Correct Answer :-is
19)
Question Stimulus :-

Choose the most suitable determiner for the given sentence:

Only crops can be grown on arid land.

e afew

o few

e alot of

* many
Correct Answer :-a few
20)
Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

Sweep the bread crumbs the table.
e under
e off
e from

® across



Correct Answer :-off

Topic:- RC_General English
1)

Question Stimulus :-
Read the following passage and answer the question given below:

Your home reflects your tastes, your passions, your likes, and your hobbies. Your home can be bright
and airy, or cozy and warm, or correct and coordinated. Every home has walls, ceilings, floors,
windows and, if worked upon, these surfaces enhance the ambience of your dwelling.

Today, we are living in an age of revived interest in home decorations. As a consequence of this huge
demand, the whole industry has responded and blossomed. There is an inexhaustible supply of books
and magazines available on this subject. The literature gives you an idea about adding permutations
and combinations, thus making it easier for amateurs to attempt home improvement projects on their
own without the help of professionals.

Which factor in a house depicts the owner’s personality?
e Size
e Cost
e Materials
e Brightness, warmth and ventilation
Correct Answer :-Brightness, warmth and ventilation
2)
Question Stimulus :-
Read the following passage and answer the question given below:

Your home reflects your tastes, your passions, your likes, and your hobbies. Your home can be bright
and airy, or cozy and warm, or correct and coordinated. Every home has walls, ceilings, floors,
windows and, if worked upon, these surfaces enhance the ambience of your dwelling.

Today, we are living in an age of revived interest in home decorations. As a consequence of this huge
demand, the whole industry has responded and blossomed. There is an inexhaustible supply of books
and magazines available on this subject. The literature gives you an idea about adding permutations
and combinations, thus making it easier for amateurs to attempt home improvement projects on their
own without the help of professionals.

For house decorations why should one take one’s own help? Because it is
e More satisfying
e Cheaper
e A way to try out various combinations

e More efficient



Correct Answer :-A way to try out various combinations

3)

Question Stimulus :-

Read the following passage and answer the question given below:

Your home reflects your tastes, your passions, your likes, and your hobbies. Your home can be bright
and airy, or cozy and warm, or correct and coordinated. Every home has walls, ceilings, floors,
windows and, if worked upon, these surfaces enhance the ambience of your dwelling.

Today, we are living in an age of revived interest in home decorations. As a consequence of this huge
demand, the whole industry has responded and blossomed. There is an inexhaustible supply of books
and magazines available on this subject. The literature gives you an idea about adding permutations
and combinations, thus making it easier for amateurs to attempt home improvement projects on their
own without the help of professionals.

The meaning of ‘blossomed’ here means:
e Flowered
e Looked beautiful
e Young
e Proliferated
Correct Answer :-Proliferated
4)
Question Stimulus :-
Read the following passage and answer the question given below:

Your home reflects your tastes, your passions, your likes, and your hobbies. Your home can be bright
and airy, or cozy and warm, or correct and coordinated. Every home has walls, ceilings, floors,
windows and, if worked upon, these surfaces enhance the ambience of your dwelling.

Today, we are living in an age of revived interest in home decorations. As a consequence of this huge
demand, the whole industry has responded and blossomed. There is an inexhaustible supply of books
and magazines available on this subject. The literature gives you an idea about adding permutations
and combinations, thus making it easier for amateurs to attempt home improvement projects on their
own without the help of professionals.

Name a source for ideas on home decorations.

Furniture shop

Hardware shop

Interior decorator

Books



Correct Answer :-Books

5)

Question Stimulus :-

Read the following passage and answer the question given below:

Your home reflects your tastes, your passions, your likes, and your hobbies. Your home can be bright
and airy, or cozy and warm, or correct and coordinated. Every home has walls, ceilings, floors,
windows and, if worked upon, these surfaces enhance the ambience of your dwelling.

Today, we are living in an age of revived interest in home decorations. As a consequence of this huge
demand, the whole industry has responded and blossomed. There is an inexhaustible supply of books
and magazines available on this subject. The literature gives you an idea about adding permutations

and combinations, thus making it easier for amateurs to attempt home improvement projects on their
own without the help of professionals.

What according to the author is common to all homes?
e Appearance
e Structural aspects
e Environment
e Garden

Correct Answer :-Structural aspects

Topic:- General Knowledge

1)
Question Stimulus :-

Which one of these is not a tribe of Madhya Pradesh? / ﬁ";'lﬁ‘l@?l’ 7a Cac| I H’m Cd| TUh EESIIG] qﬁ%l
* Gond /TS
o Bhil/ Wi
e Kom /&I
e Baiga / am
Correct Answer :-Kom / &1
2)
Question Stimulus :-
Which of the following is not a Union Territory? / m 'J}I ﬁ ﬁ? U aﬁ 'x"lTﬁ:l_rT U%QT qﬁ %?

e Andaman & Nicobar / W@ﬁﬁﬁﬂﬂ

e Puducherry/ ggﬁ'fr



e Delhi/ faeett

o Telangana/aﬁ‘Tl_"lT
Correct Answer :-Telangana / CEUIR
3)

Question Stimulus :-

Countries had competed in the third international Kabaddi tournament held in India during

October 2016. / 3FEA 2016 P IR, HRA F TAIIA g1 arat TR SRSy Hagl gatde &

=0 A ym e

e 8

e 12

e 14

e 10
Correct Answer :-12
4)

Question Stimulus :-

is known as “Scotland of the East” / &l “Qﬁ DI Wﬁ?” & ATH o ST ST %I

Shillong / e

Jairampur / STORTHYY
Ruksin / @

Gandhigram / HItpIE

Correct Answer :-Shillong / FRTIT
5)
Question Stimulus :-

The Radcliffe line is a boundary between and ./ Yefeaw NIER]

T ST 8

e India and China / HIRd €4 919

e India and Bangladesh / HIRd Td CIRCIER]
e India and Sri Lanka / HIRd Qa L]
e India and Pakistan / HIRd Ud LHEESIE]
Correct Answer :-India and Pakistan / HIRd QH LHESSIR!

6)

& ot




Question Stimulus :-

Who among the following has been appointed as new Chairman of PwC India? / a3 @ S Pwe ?[%TIT &

Taf~rged sremel 32

e Deepak Kapoor / S1U® Cay

e Shyamal Mukherjee /W'ﬂﬁ\_rﬁ

e Ajay Kangoo / 3o P

e None of the above /m ﬁ' ﬁ aﬁ'é' :Iﬁ
Correct Answer :-Shyamal Mukherjee / RUTHA H@Trﬁ
7
Question Stimulus :-

According to 2011 census, Madhya Pradesh had a literacy rate of . /2011 P STRIUET & SR,
HHAYGY ST T&RAT & @

* 93.5%

e 70.6%

* 45.3%

* 53.9%
Correct Answer :-70.6%
8)
Question Stimulus :-

First Indian female wrestler to win a medal at Olympics is ./ 3EfU® | ueed Siia+ arell gud
HRdTT Afger ggaar 3

Sakshi Malik / & #f®
Babita Kumari / SfadT @Tﬂﬁ
Vinesh Phogat / fATwre
Geetha Phogat / a1 wire

Correct Answer :-Sakshi Malik / GT&f} Afer

9)
Question Stimulus :-

Which one of these is not a tributary of Yamuna? / ?F'lﬁ 3 CaE| qy-r ®t Helddh T'I'cﬂ qﬁ %?
e Hiran/ %W

e Sindh/RY



e Tons /9

e Ken /&
Correct Answer :-Hiran /1%?7-[
10)

Question Stimulus :-

Which of the following Indian state has a separate constitution for itself? / frrafafea yrda = 9 9 fea
1Y BT ST T ST |iqur= 82

e Arunachal Pradesh / 3RSV WeRT

o Sikkim / fafepa

e Himachal Pradesh / %ﬂﬁﬁm

e Jammu and Kashmir / 5% Td PR
Correct Answer :-Jammu and Kashmir / STR] Td PR
11)

Question Stimulus :-

Tansen Samaroh is held in the month of in Madhya Pradesh. / HH 1;I%'-‘ZT o aFae '\tnmﬁ?, 'Flfﬁ
o e frar sar 8 |

March / /Td
December / féamaR
July / S[ATS
September / IGEREES

Correct Answer :-December / f&Tw R

12)
Question Stimulus :-

Gatha falls is in district of Madhya Pradesh. / TTUT STCTUUT, HEH U & IGCE ARG

g
e Panna /AT
e Rewa /3l
e Dhar /YR
e Bhind / f¥iS
Correct Answer :-Panna / 9dT

13)



Question Stimulus :-

Which famous playback singer was born in Khandwa, Madhya Pradesh? / H USRI GWear | Ak RS 1flT’g
A& UeTgT A2

e Kishore Kumar / ﬁﬂ'ﬁ?w

e Mohammed Rafi / JgHq WL

e Mahendra Kapoor / ues DY

e Kundan Lal Saigal / W NIGKRIGE
Correct Answer :-Kishore Kumar / ﬁwﬁ?w
14)
Question Stimulus :-

is the largest city by population in India as per 2011 census. / 2011 DI TIUAET S YR,
YR BT HATUD SHESAT a7 T gl

Mumbai / 'ﬂﬂg’
Delhi / feeeft
Bengaluru / aTlﬂ'\‘?
Chennai / %?:l%

Correct Answer :-Mumbai / 'ﬂﬁ'&"

15)
Question Stimulus :-
is the oldest stone structure in India. / HIRd § T&H gTF-ﬂ TR B HAAT ]
e Dholavira / HIATdIRT
e Sanchi Stupa / |t 4
¢ Dhamek Stupa / HHD U
e Taj Mahal / dTsl Hgd
Correct Answer :-Sanchi Stupa / Jidl S
16)

Question Stimulus :-

The Hirakud Project in Odisha is constructed on which river? / Gﬁﬁ'sﬂT | ﬁ?lﬁ’_\":' tlﬁ'lﬁTrF'lT, &g Tﬁﬂ W
fffa g2

e Kaveri river /?ﬂﬁﬁ T'EPF

e Brahmaputra / Sg19d



e Ganga river / TR :I—Cﬂ.

e Mahanadi / HgTHS!
Correct Answer :-Mahanadi / HE'FI?.DI
17)

Question Stimulus :-

is the state bird of Madhya Pradesh. / qmﬁ ISBY q&‘ﬁ %I
e Asian Koel / @Rﬂg A
¢ Indian Paradise flycatcher / QUITSI (Q-I'I?T‘ﬁ'q 'aTI?:'I_E'F“l' W'Iga’_tﬂ')
e Banded Bay Cuckoo / CEEE KUK
e Barn Swallow / 9T+ &Tal

Correct Answer :-Indian Paradise flycatcher / gURTSI (mnwﬂ‘q ﬁﬂm W’Ig%)_\'ﬂ')
18)
Question Stimulus :-
Chachai falls is in district of Madhya Pradesh. / iﬁﬂg STTyyTd, IIQIITI%QT & IEGE: %I
¢ Dhar /YRR
e Rewa/¥dl
e Bhind / fHS
e Katni/®ct
Correct Answer :-Rewa / ¥l
19)
Question Stimulus :-

cricket stadium in Indore was earlier known as Maharani Usharaje Trust cricket ground. / E_C.ﬁ?

A frde RfTw o @i & 7R SURTS g3 fpdre AT & 19 A ST ST T |
e Roop Singh / &7 Rig
e Holkar / GIA®Y
e Nehru/ ﬁw
e Colliery / PIfera}
Correct Answer :-Holkar /ﬁw
20)

Question Stimulus :-



is the biggest tributary of river Narmada. / qﬁET Tt B L a?.ﬁ qeldd B %I
e Tawa /dIdl
o Sher /2R
e Shakkar / R[GPHY
e Dudhi/ g
Correct Answer :-Tawa / dTdl
21)
Question Stimulus :-

is the only state in India with a majority Muslim population. / HIRd T IgHSTP H%IT[ 3TaTS
T THHTH I gl

e Punjab / USITd

e Haryana/ EﬁTITUIT

e Himachal Pradesh / fgHTa@ I1sg

e Jammu & Kashmir /W@W
Correct Answer :-Jammu & Kashmir / 78] Td $IHIR
22)

Question Stimulus :-

Who selects the Authorized Dealers for foreign transactions? / =it a9 %ﬂ Gl'filq)_d St w1 T i
ST 82

e Co operative Bank / Fl-3TRfea §F
e Reserve Bank of India / HTRe1g ord S&
e Foreign Exchange Department / ﬁﬁ?ﬂ faferg faumT
e None of the above / SIRIGd § I aﬁ'{ qﬁ
Correct Answer :-Reserve Bank of India / HIR<1d f¥erd 9%
23)
Question Stimulus :-

How many medals did India win in 2016 Summer Paralympics held in Rio de Janeiro? / feat f& St o
Jraifora g ara e Wreiafaes, 2016 § WRd A foraa ge sid &2

e 3
e 4

e 5



e 6
Correct Answer :-4
24)
Question Stimulus :-

Rajasthan canal, one of the largest canals of India was renamed the canal. / TSTRYT TR, YR @t

IoA TS TR A A T 8, o g A feam
Indira Gandhi / Eﬁ?T et
Rajiv Gandhi / ITeig TR

Jawaharlal Nehru / STdTgY ¢IlTdl ﬁ??;

Mahatma Gandhi / T&TeHT TS

Correct Answer :-Indira Gandhi / Eﬁﬂ et
25)
Question Stimulus :-
Highest mountain in Uttarakhand is ./ IIRTEE BT a4 Sl wa‘a, %I
e Nanda Devi / Fgl aﬂ
e Trisul / FRg@
e Shivling / RrafeiT
e Nanda Kot / gl Pl
Correct Answer :-Nanda Devi / gl ¢dt

Topic:- General Computer Knowledge

1)
Question Stimulus :-

Operating system, editors, and debuggers comes under? / ST Rery, Tdied aur fTad frasds
Sfata omd &2

Application Software / TSI AIFEdUR
Utilities / gfeferdisr

System Software / Rreq TrreaaRy

None of the above / SIRIad A A ilﬁ'sf el

Correct Answer :-System Software / e diedgy

2)

Question Stimulus :-



Which feature should be used to monitor changes to a MS Word document? / MS Word :‘ﬁqﬁ? H ggaral ot

frrft & R fora wieR &1 IuaT far s anlee?
Track Changes /275 EEvIC ]

Compare Versions / FEW ToId
Editions/Qt‘ﬁ'—‘Z'i'\q

All of the above / amﬁa i | '\Q ﬁ‘é T'Iﬁ

Correct Answer :-Track Changes /23? CEC |

3)
Question Stimulus :-

Hyperlinks can be . /F@Tﬁiﬂ? E?f b dl %I
e Text / THE
e Drawing objects /373"‘1 Gﬁﬁﬂ
e Pictures / faerRf
e All of the above / SURIRT I
Correct Answer :-All of the above / SURIT A
4)
Question Stimulus :-
Missing slot covers on a computer can cause? / W'\‘f R Wi Fad A g A A g gwarg -
e over heat / 3fTaR a?
e power surges / tﬁﬁ? W
e EMI/EMI
¢ Incomplete path for ESD / ESD & ﬁl'q GI'{UftITQI
Correct Answer :-over heat / 3% ﬁ?’
)

Question Stimulus :-

When sender and receiver of an e-mail are on same system, we need only two ./ old ﬁ?‘\‘ﬁ é-ﬁ?r a?
¥ YT fftaw ter € Ren R €, 99 g aa o P ATILIPHT gl gl

o IP/IP

e Domain/SHA

e Servers/gdRYH



e Users/ oY
Correct Answer :-Users / goiR
6)
Question Stimulus :-

Which of the following memory chips is programmed during the manufacturing process? / a9 fog

Aud foery Y WhonfT Saare ufshar & QR $1 Sl 82
e ROM
e PROM
e EPROM
e EEPROM
Correct Answer :-ROM
7

Question Stimulus :-

What command do you use to create Linux file systems? / 3{T0 INEE] wIgd Rreen ﬁ)‘({? P D ﬁl’l! G|
FHUTS BT ITANTT B3 82

e Fdisk
e Mkfs
e Fsck
e mount
Correct Answer :-MKfs
8)
Question Stimulus :-
What does the DOCTYPE declaration defines in HTML? / HTML ® DOCTYPE f&aav= a1 ufyyTfra &=t 82

it defines the document Property / 9% Sﬂa? uradt gy ®dr %
it defines the document Type / g aaq;ﬁ'c' cIgu gy &ear %

it defines the document Size / & ?ﬁﬂ[a? qTgel U UG Hear ?

it defines the document Style / Ug 33?]33? xrgd g Har %

Correct Answer :-it defines the document Type / & saqﬁz' HELRIRRTIEGEZGI ?
9)

Question Stimulus :-



In MS Excel, to activate the previous cell in a pre-selected range, press / MS Excel ﬁ:, r-ddws 3w ﬁ, wfaag
Id Ufdede oA & forg LY

e Alt key
e Tab key

e Enter key

e None of the above / STIRIad H ¥ aﬁ'é'q's‘}
Correct Answer :-None of the above / JURad H | aﬁ's‘ 8t
10)

Question Stimulus :-

Which of the following is not a variant of a Unix Operating system? / fradd @ !]f'ﬁ'\q' STRfET Ren
@1 af¥ e 7et &2
e MS DOS/MS DOS
e Mac OS/Mac OS
e Linux/foFe
e Berkeley Software Distribution (BSD) / Ihd AFedaR %’\‘?ﬁw
Correct Answer :-MS DOS/MS DOS
11)
Question Stimulus :-

In MS Word, “Ctrl + PageUp” is used to / MS Word H “Ctrl + PageUp” &I Iy fomaT SITaT % -

e Moves the cursor one Page Up | BT B Udh US S t@?ﬂﬁ' & ﬁnz

e Moves the cursor one Paragraph Up / P P U WRETE SHW TIEEI'Ief & ﬁl’({

e Moves the cursor one Screen Up /37\‘1? G| ThiT U & R UEﬂﬁ & ﬁnz

e Moves the cursor one Line Up / P P Udh g Hur tlﬁ?-l'ﬁ & ﬁﬂ!
Correct Answer :-Moves the cursor one Page Up / IR B Udh US SR QE?I'I% & ﬁl"&,’
12)
Question Stimulus :-

In Linux, which of the following command can you execute to count the number of lines in a file? /
o 9, smu <l wiga & arg= 31 H@ 91 TvHT SR 1 & g e | 9 e eais o1 3w
FX ADA 52

o Lc¢
e Wc-1

e Cl



e count
Correct Answer :-We —1
13)
Question Stimulus :-

Which of the following is the most commonly used HTTP methods? / e & @ S o HTTe ﬁm 1 Haifis
ATHT U & SUGNT foat orat 82

PRE and POST / PRE 3fIY POST

GET and SET / GET 3fIX SET

ASK and REPLY / ASK G'ﬁT REPLY

GET and POST / GET 31X POST

Correct Answer :-GET and POST / GET 31T POST
14)

Question Stimulus :-

A receiving host has failed to receive all of the segments that it should acknowledge. What can the host
do to improve the reliability of this communication session? / T & giee 9t ﬁ"ﬁﬁ P YT B
T 3w d VT ¢ FoFP 1T 38 TwrATas &A1 31 8 39 $HSI A F1 favau-igar # gur & fire
T X AHdT 82

Send a different source port number. / fafy=1 I o SaR Qe
Restart the virtual circuit. / aijawr gfde freré o

e Decrease the sequence number. / SFH ST H HH BT

e Decrease the window size. / fdST gqrgel H et FeT
Correct Answer :-Decrease the window size. / fdgT argel H St HeT
15)
Question Stimulus :-

Which command displays only file and directory names without size, date and time information? / Cap kIl HHTS,

BIged aYT STt & A1 & faar e, fafy aur gwa S Jun & fovt sar 82
e Dir/w
e Dir/a
e Dir/b
e Dir/s
Correct Answer :-Dir/b

16)



Question Stimulus :-

In excel, which button do you click to add up a series of numbers? / Excel ﬁ, 3y AT @t F3Is &1 g
T & T g gea R fFae w=d &2

Auto sum button / 3fT¢! TH dcd

Formula button /U’T‘Il'q\?ﬂ qcH

Quick total button / f® alcd g4

Total button / Sled ge-

Correct Answer :-Auto sum button / 3{Tel TH ¥
17)

Question Stimulus :-

MS PowerPoint Application allows you to produce . / MS PowerPoint Q'Tﬂaﬂ'ﬁ 3Tyeh!

fafifa w1 &) gfaw yeH srar gl
e Animated Presentations / QT'ﬂ'ﬁ%g TI\_;)%QF'T
Paper Printouts of Slides / TIlgSd & T ficemsew
Notes for the Speaker / W & ﬁI'E m
All of the above / SURTad Tt

Correct Answer :-All of the above / JURTad T

18)
Question Stimulus :-

In Excel 2007, To copy formatting from one area in a worksheet and apply it to another area you would use

./ Excel 2007 H, THITE T TH WU A BIATSIT BIUT HIA TUT $H gIR VI R @IS HIA
& fore 3y =1 &1 SuET Bt -

o Select Edit>Copy Format and Edit>Paste Format / Select Edit>Copy Format 3R Edit>Paste
Format

e Select Copy and Apply Formatting dialog box / Select Copy 3R Apply Formatting dialog box

e There is no way to copy and apply formatting in Excel — You have to do it manually / Excel s | W\ﬁﬁ'ﬂ Caui|

TYT 3(TATS B BT BIg a3IDT Al § — MUP! 3/ A3 HIAT 81T
« The Format Painter button on the Home tab / 81 2§ TR WIHe Uex ge
Correct Answer :-The Format Painter button on the Home tab / ﬁ'l:[ GG R Brae Uex e
19)

Question Stimulus :-



Which command is used to display all the files having the (.ext) extension but different filename? | forg wHTS BT
JTAHT AHT THIEIM (.ext) Gad Afp FU=I-FUT BTgamd ardl Bised ot f$wd oA & foae fomar siran
2

Dir filename.*

Dir filename.ext

Dir *.sys

Dir *.ext

Correct Answer :-Dir *.ext
20)
Question Stimulus :-
In MS Word, Ctrl + N ./ MS Word & Ctrl + N T 3 g &l
e Save Document / '\ﬁa?ﬁqﬁf
e Open Document / Gﬁﬂ?@?{ﬂ?
e New Document / ?1332]33?
e Close Document / TS gﬂﬁ?

Correct Answer :-New Document / 7{3@?

21)
Question Stimulus :-
What is the use of Notes in MS PPT slides? / MS PPT TT3EH H, T HT T IUGNT gl 32
It will display at the time of Slide Presentation / 4§ WIIgS UolexH & 94y fewwt Eﬂ"'IT
This is just Note about the slide /Ug WIIRS A Fafid daa Aie Eﬁ_clT %
This is just for printing purpose only / dg Fad fifdn & 3%-‘111 * ﬁl'l'{ Eﬂ_cIT %

¢ Notes cannot be inserted in slides / T'ﬁw RN IERT - | 37\‘:1—(.; :l'a ﬁﬂl T 9hd %
Correct Answer :-This is just Note about the slide /Yg WIIYS A e dad :ﬁ?ﬁ?ﬂ %

22)

Question Stimulus :-

Which file starts MS Word? / D1 M WIgd MS Word WIS Bl %?
e winword.exe
e word.exe
e msword.exe

e word2003.exe



Correct Answer :-winword.exe
23)
Question Stimulus :-

Which of the following commands will allow you to set your Telnet password on a Cisco router? /e

# A B A1 FHIS AMUD! TP IS WX T TMHAS 91 B1 AT UG Hear 82

e line telnet 04

e lineaux04

e linevty04

e linecon0
Correct Answer :-line vty 0 4
24)
Question Stimulus :-

Which WLAN IEEE specification allows up to 54Mbps at 2.4GHz? / $19 i1 WLAN IEEE Wi
2.4GHz W 54Mbps T ipd S 82

e 802.11a
e 802.11b
o 802.11g
e 802..11n
Correct Answer :-802.11g
25)
Question Stimulus :-
Which of the following is correct Syntax? / ffada g “ﬁ e & %?
e <a href="http://google.com”>MCQ Questions</a>
e <a href link ="http://google.com”>MCQ Questions</a>
e <a href target ="http://google.com”>MCQ Questions</a>
e <a href="http://google.com” Title = “MCQ Questions” /a>
Correct Answer :-<a href="http://google.com”>MCQ Questions</a>

Topic:- General Logical Reasoning

1)
Question Stimulus :-

If paper is called wood, wood is called straw, straw is called grass, grass is called rubber and rubber is called cloth,

what are tyres made of? / afe paper Bl wood BET ?,' wood @1 straw BEd ?,’ straw @1, grass FEd ?, grass @7 rubber
W#?ﬂ??’mbber &1 cloth 5’_6'(’}[?, H}tyresﬁ)_ﬂ#a:}ﬁ#??



Rubber

Cloth

o Grass

None of the above / G'ﬂg%ﬂ'##?ﬁg:lﬁ?

Correct Answer :-Cloth

2)
Question Stimulus :-

If three men or four women can reap a field in 43 days, then, how many days will it take for seven men and

five women to complete the given task?/qﬁ'?ﬁqﬁmmaﬂéﬁ?ﬁ, 43ﬁ=ﬁﬁwaﬁwmél ar
T STefray iR Ut Nval Y 59 &1 & T w4 W fpa=n wwg @

28 days / 28 fa1

17 days / 17 f&

12 days / 12 f&

10 days / 10 f&

Correct Answer :-12 days / 12 feq
3)
Question Stimulus :-

The series given below contains a sequence of numbers. Identify the INCORRECT combination: / T'ﬂ%?ﬁ TI%
e ® AT BT HH U § | Tad AT Ugdn-d:
1,3,7, 15,31, 62
o 7
e 62
e 31
e 15
Correct Answer :-62
4)

Question Stimulus :-

Raju went 20 meters in the north direction, then 40 meters in the south, then 15
meters in west and then 15 meters in east direction. How far is he from the starting

point now? / 19, 3T fa=m # 20 Hiex wam, fp afaror & 40 Hiex o, fpw ufdm § 15 diew ok i od
H 15 Hiex 9aT11 39 9% RfFUS g A fopa-it gt w2

e 15 meters / 15 HleX

e 20 meters / 20 HeX



e 25 meters / 25 HIeX

e 10 meters / 10 HIeX
Correct Answer :-20 meters / 20 HeX
S)
Question Stimulus :-

If DEAF is coded XYUZ, then how is CAB coded? / A& DEAF &1 XyUz A HIfed fhar Sd1 8, df c4B 1 HA
Sifed faar S 22

e VWU

e UVW

e XYU

e WUV
Correct Answer :-WUV
6)
Question Stimulus :-

The positions of the second and the eighth digits of the number 39128564 are interchanged. Similarly, the
positions of the fourth and the fifth digits are interchanged. The positions of the first and the sixth digits are
interchanged and the positions of the third and the seventh digits are interchanged. Which of the following will

be the third digit to the left of 3 after the arrangement? / 39128564 TGIT & guI¥ 3R 3ATSd 3T & T BI

T ¥ gea foar mam) 3t yeR, Y iR urhd ofd & I 3TU | 9ed fed T | ugd 3R §6 3id &
R, 39 # ged f3d T8 7 9 3R qiaa 3ich & W 3ug § g4 ol T | a1 F arg Fad |
S T 3, 3 % 918 J FRT 3ip g2

o 2

e 4

* 6

e 8
Correct Answer :-6
7)
Question Stimulus :-

The series given below contains a sequence of alphabets and numbers. Identify the INCORRECT combination: /

1 &t g gae § sreRi ik " $T wH faur T 8 | Tad SaeH ugHi-ia:
i. acng8plo2oSop ii. acng8plo2oSop iii. acng8plo2oSop iv. acngo8plo2oSop

o i

o ii

e iii



* iv
Correct Answer :-iv
8)
Question Stimulus :-

A sum of money, invested at a certain rate, compounded annually doubles in 3 years. In how many years will it

become eight times its principal? / Wﬁﬁiﬁﬂ?“ﬁ%ﬁ'ﬁ?ﬁ Tﬁﬂ%ﬂmﬂﬁ, 3 aﬁﬁaﬁ'ﬂ'—ﬁ E?f
STl 81 fpaq auf o, 9 3rva g & 3118 T[T 81 Sraeil?

e 9years/9 CL

e 27 years /27 CL

e 24 years/24 QUI

e 6years/6 quf
Correct Answer :-9 years /9 auf
9)
Question Stimulus :-

Simplify: / Tl HIAT;
{,4+13) . (52 31)}| 123
( 5 ) 3 3/) " T 25

e 0
.1
.2
e None of the above / STJad W ®Ig Tl

Correct Answer :-1
10)
Question Stimulus :-

The average of 10 numbers is 6. If each number is multiplied by 13, then the average of new set of numbers is:

ggnﬁwaﬁmaﬁﬂaﬁ%luﬁuﬁﬁmaﬁmﬁwﬁmmaa’rmaﬁ%qﬁﬂzmaﬁﬂa

e 55
e 58
°* 69

o 78



Correct Answer :-78
11)
Question Stimulus :-

In the word 'INCUBATIONS' what is the difference between the number of letters preceding the first I and
succeeding the second 1? / XTsg 'INCUBATIONS' ® Ugd I ¥ Ud 3R goR 1 & TG & 3U&R] B I &
foremT o graT 82

e 0
e 1
o 2
e 3
Correct Answer :-3
12)
Question Stimulus :-
Find the result when 1,200 is decreased by 30%. / FTd @< B 1,200 DI 30% & T U F a7 YUIRT ST
e 830
e 740
e 840
e 850
Correct Answer :-840
13)
Question Stimulus :-

On dividing 4150 by a certain number, the quotient is 55 and the remainder is 25. The divisor is / 4150 G| Udh

¥ @ & fauifra $33 R, UITed 55 8 SR ATwd 25 81 HTSD & -
e 05
e 70
e 75
e 80
Correct Answer :-75
14)

Question Stimulus :-

Complete the series choosing the missing letter: / Ul &R TABR YWl Gl T P

AE LM,



e P

e T
Correct Answer :-Q
15)
Question Stimulus :-

If the following two squares shown below overlap. which one of the following
options is formed? / TG @aT @ 7 ar a=7 Afdewfag ghr a

5T Tehedl § O &9 @1 F=19m?

g
T

4




Correct Answer :-
16)
Question Stimulus :-
((72 x 2) / 4) - ((460/20) x 1) + ((45 x 2)/90) + (8/2) = ?
e 15
e 20
e 18
o 22
Correct Answer :-18
17)
Question Stimulus :-
Q1 x3)/7-4%x(15/5)-302) x15="
o -265
o -228
e -230
e -250
Correct Answer :--228
18)

Question Stimulus :-

Complete the series choosing the missing number: / U BT Db I Gl ORT Pifg:
67, 62, 56, 49, 41,

* 36

e 30

o 28

o 32
Correct Answer :-32
19)

Question Stimulus :-



A car covers one-fourth of the distance at 25 kmph and the remaining distance at double the speed. If the total
time taken is 10 hrs, then find the total distance. / Th TI'I@, §ﬁ Caj W—iﬁ?ﬂg U, 25 ft ufe gue &t =ra
T R FA 8 3R A9 g, ST I W QT Bt 71 afe T aren oo 99, 10 9 §, d@ A gl
T

100 km / 100 fe.

200 km /200 fFHY,

300 km / 300 fopet.

400 km / 400 fop,

Correct Answer :-400 km / 400 fopHY.
20)
Question Stimulus :-

A mixture contains milk and water in the ratio 5 : 3. If 5 litres of milk is added to the mixture, the ratio
becomes 7 : 3. What is the quantity of milk in the new mixture? / T fhrgor | QY 3R T, 5: 3 Cg STJurd H
gd &1 afe frsyor § 5 ofiex ureit sTed &, a7 SuTd 7 : 3 91 IraT g1 7 fryor § gy 3t o | 32

12.5 litres / 12.5 ¥ex
15 litres / 15 ¥fex
17.5 litres / 17.5 ex
20 litres / 20 WeX

Correct Answer :-17.5 litres / 17.5 ®leR

21)
Question Stimulus :-
The square of 98 is: / 98 Wl'a"f%
e 9,000
e 9,604
e 9,603
e 9,601
Correct Answer :-9,604
22)
Question Stimulus :-

If 931785 is coded STEADY and 12345 is coded ENTRY, then how is SEDATE coded? /
T3 931785 B STEADY A BifSd fHdT SATAT 8 3R 12345 B ENTRY | BifSd a1 1T 8, O SEDATE
&1 B Bifsd forar ST 82

o 725892



e 918731

o 948155

o 841591
Correct Answer :-918731
23)
Question Stimulus :-

The ratio of father's age to son's age is 3 : 1. The product of their ages is 243. The ratio of their ages 9 years hence,
will be: / FUaT R a2 B} AT BT U 3 : 1 81 STD! 3T BT YUFHH 243 1 9 TGl & TG IABT 3G HT
SUrd él‘ll:

Correct Answer :-2: 1

24)

Question Stimulus :-

Find the odd one out: /wﬁwm?ﬁmz

Air and oxygen / gdl 3R STt

Teacher and student / 3ATI® 3R Ry
Mathematics and geometry / TfOTd 3R SaTffa
Flower and petal / B 3R WRgst

Correct Answer :-Teacher and student / 3(Tq® 3R A=y
25)
Question Stimulus :-

Complete the following sequence of figures. / 31'@%’&7 & [T F &
ERUERIE Y



Correct Answer :-

Topic:- General Management

1)
Question Stimulus :-

A group of people work together to achieve a wide variety of goals. It has a multi-tiered structure to coordinate
their actions and ensure the desired future outcomes. Which of the following terms best describes such a collection

of people? TN &1 TP TYE favgd fafauar weat & wifta & e, ver 1y 14 H3a1 31 $9H 9 Sl &
Ty R Hiaw # gifsd uftom gffda 37 & Rt e sg-wda wRa i 31| Fufif@a 7}, s wrug
T AR &7 A VX g PT qUH BT 82

Employees / HHA

e Organisation / IS

Strategic Goals/ qraie a&g

e Work specialization / PTH ﬁ'ﬁm
Correct Answer :-Organisation / TS+
2)

Question Stimulus :-

Variability in the rate of return is known as / ufawd 34 ﬁ, trhaﬂ'—nzﬂam & EoY'| o S STt %I
e Return / Ufdwmd



e Risk/SfeH
o Interest / ogIol
e Volatility / TRRT
Correct Answer :-Risk / S|
3)
Question Stimulus :-
Management accounting is a / e A %
e Post mortem duty / TReHTdH @:a
e Accounting for future / yfasr & W RG]
e Accounting for today / TAAT & ﬁm LECIC
e Reflects the position of a business in its entirety / 3T W{HT # fpddl sarur & fRufa &t g=ifar %I
Correct Answer :-Accounting for future / HfasT & oI aRaisw—
4)
Question Stimulus :-

When a company gives fixed amount of percentage from the earnings of the company, it is called as

./ 9 BIE UL, IGB! 3 A g Ay &1 yfliwd yeM FId @, 99 U8 PHEAl gl

Dividend tax policy / ATHTRI B Hifa

Dividend right ratio policy / ATHIRI st STJurd Hifa

Dividend Payout ratio policy / ATHTRT YITdTH 3UTd Hifa

e Dividend Buyout Ratio policy / ATHIRI 564 STJurd Hifa
Correct Answer :-Dividend Payout ratio policy / ATHTRT YITdTH 3uTd Hifa
S)
Question Stimulus :-

In which of these forecasting techniques are past staffing levels used to project future human resource

requirements? /sﬂﬁﬁ%qaﬁqﬂaﬁaﬁﬁeﬁﬁaa?wmmmmﬁw%mwm
razaSdTSil & YATur # fhaT STt 82

e Regression analysis /u%mﬁrzaw
o Time series analysis / PT¢T goft fa=eryor
¢ HR budgets / TI3R dvic

e Nominal group method / WW%



Correct Answer :-Time series analysis / ®Td gof} fagaaor
6)
Question Stimulus :-

The process of standardizing jobs by laying down rules and procedures to be adhered to is called /

urer fop oI ara, ey iR ufthanaii & |1y Aiwial ot areter ufear Fgardt gl
e Formalisation / 3TURTSIHIT
e Centralisation / P-SIPHIT
e Decentralisation / fa®gIHRor
e Work specialization / PTH ﬁ"xﬁ'ﬂﬁ?ﬂ
Correct Answer :-Formalisation / SR IHIT
7)
Question Stimulus :-
Basic objective of financial management is / forita ygeq o1 Hd E%Q'q %:
e Profit maximization / ATH SfUHTHTHIOT
e Wealth maximization / Ul SffU@aHI®Hor
o Discharging social responsibilities / TS IRl o1 fAded
¢ Building assets for the business / TUIR & ﬁI'E ufeufrat &1 fAafor
Correct Answer :-Wealth maximization / FUfel SffUdHaHI®or
8)
Question Stimulus :-

The relationship between the firms EBIT and earnings available for shareholders is known as /

HUfal & SHIeMEd] iR IWRURS| & e Iuasy 3mg & §ig R=d &) FY H ST ST g

Operating leverage / U= UHTa &HdT

Financial leverage / foa=ft wvTas grmrar

Combined leverage / Tgad UHTA &HdT
Accounting rate of return / UfIwd A@ie o3

Correct Answer :-Financial leverage / IERiER L ICEELGI

9)
Question Stimulus :-

Bonus shares are issued to / S99 ‘aTR', Ikl ﬁ?E G %



Existing employees at free of cost /Iﬁq@T FUATG] DI HUd |

Existing employees at a less cost / 'Fﬁw HHRG B FH aFTT W

New shareholders free of cost / T ARURDI PI HUd i

New shareholders at a discounted price / T JIRYURS! &I Faradt HU W

Correct Answer :-Existing employees at free of cost / 'FﬁTrET =Gl B HUd |

10)

Question Stimulus :-

Who is a whistle-blower? / foTe =R a1 'ﬂ@'ﬁ? PSS -

An employee who announces at the end of the day that it is time to wind up and leave office / al

FHARY o 39 & AT A FH ) @H B 3R 3hY S B T B

An employee who monitors the activities in the office and reports any security lapses / 9t HHERY
S Sty @t AfafafRal wR TR TEar 8 SR fBiT off e #t JRem wnfiat wr Raé urga sRar gl

An employee who alerts other colleagues on observing smoke in the office premises and takes step to prevent

spreadinglﬁm\?ﬁmqﬁ'\q?ﬁ yméﬁmmmﬁﬁﬁaﬁﬁm% Gﬁ?@aﬁﬁ'\&
AP & oI yay Hear B

An employee who discloses illegal or unethical conduct on the part of others in the organization /

9t HHARY o WS A 3 AR B 3R A 3y UT AP SMTERUT BT AR Hal g

Correct Answer :-An employee who discloses illegal or unethical conduct on the part of others in the

organization / @ FHARY S WS- T 37 TRN BT 3R F A T 3MTASH MTEARVT BT AT BT ¢ |

11)

Question Stimulus :-

The preferred technique for evaluating most capital investments is ./ iR 'li\_rﬁ fora=i &
e & g iftmm=y a&-iie gl
e payback period/ YT ATTHT Bt afes

discount payback period / farga Hdrq aroRfY Srafdy
internal rate of return / ufawd &t Sfidive @
net present value /ﬁﬁﬁ adaT= qy

Correct Answer :-net present value / fIa@ g qy

12)

Question Stimulus :-

Which of the following is an organization that the society has created to fulfil its needs? /ﬁfﬂﬁ gk Udh

e+ g Ford uTet 7 37Ut Srmazaadaraii & [RT w34 & fore a9 82

Structure / HXTAT



e Management / UdYq

e Business / T

o Strategy / CILEIIG
Correct Answer :-Business / ST
13)
Question Stimulus :-

The value of a fixed asset after deducting depreciation from the historical cost is called ./ Srdiard®

AN & YEIs UeM & 918 U iRt uReufa o1 96 FEaEg|
e Fair value / 3fad g
« Book value / fifaa q&a
e Market value / ST9IR &
e Net realisable value / 3[& Ol 419 G4
Correct Answer :-Book value / fIf&d gea
14)

Question Stimulus :-

The focal point in marketing is ./ AThTeT a1 fauvH § v ﬁg gar gl
e Sales / faspt
e Profit / CTH
e Customer / YToPh
e Marketing Manager / TSI YdYU®
Correct Answer :-Customer / YToPh
15)

Question Stimulus :-

Which of these is an on-the-job training method where the trainee is placed on various jobs across different

functions in the organization? AECE: | P 3fd: Pprd ufneror fafer 8 wigi U&T{‘g,{aﬁ e & fafia sraf w
faftra efeal & a1 wmar 82

e Job instruction training / o GH%SZT ufRreror
e Coaching / arg’lifr&rur

e Committee assignments / gferfa & ord

¢ Job rotation /Wﬁ?‘&[



Correct Answer :-Job rotation /W’hﬁ:{
16)
Question Stimulus :-

The returns shareholders get in the form of cash in public limited companies is termed as / U fafies

HUFT § 798 $ U N VIRYRSD! &) 0 U 81 Heerar &

Profits / AdTH

Dividends / TTHTRT

Interest / STl

e Earnings per share / wifel AR Mg
Correct Answer :-Dividends / ATHTRI
17)

Question Stimulus :-

Who coined the term 'Marketing Mix' / fraq fauur= frgor wrsg #t ufeuarfed forar?
James Culliton/ % Feciiei-
Philip Kotler/ g #leer

Perreault/ ﬂ’&zqw

McCarthy / Aeredf

Correct Answer :-Philip Kotler/ fifera PleaR
18)
Question Stimulus :-

In which of these individual evaluation methods, the performance is assessed on effective or ineffective

performance incidents? / 3_-'I'a J fpya meﬁ, THTAT a1 SruHTal fRrearea &6t g3 w®
Hegie- foar irar 82

e Management by objectives (MBO) /3%'5@[ ST Ua= (MBO)

Weighted checklists / yrfed ﬁl’e{W ﬂ?ﬁ

Critical incident technique / frrortae g ufafy

e Behaviourally anchored rating scale (BARS) / AgRATe! fRRr® fAufor aroet (BARS)

Correct Answer :-Critical incident technique / FIoTTae® W T ufaftr

19)
Question Stimulus :-

What is a single-use plan? /Q@_Q‘[-m?ﬂw RIT %?



They are the plans aimed at achieving specific goals. /ﬁmﬁ&lﬁ G| WW%B@'@T'\Q CRil
T &

These are the plans providing guidance for performing recurring activities. / 3ad nfafaftray & ﬁ'I'WIET'T
F fore, A gierErd Arfese ue &-dl &1

A plan designed for the entire organisation in mind / W'{Ufw & ﬁl’l{ Fiferd die T %I

It is plan concerned with responsibility and functionality of lower levels / 'q%'agTﬁTrF-lT %Trﬁ e TR Y
et ok srderar & w1y Gefta 31

Correct Answer :-They are the plans aimed at achieving specific goals. /ﬁﬁ&ma&!ﬂ 3| WW%G@YH
¥ T Ao €1

20)

Question Stimulus :-

Affective component is related to ./ HTdTHSD YUCh ¥ Hefea %

Thinking and Evaluation / TS aYT i

Feelings and Emotions / YTGHT GUT HaT

Intention to behave in certain way towards someone / et safea & a1y TP s adream &

None of the above / JURIGd & I Hﬁ'ﬁf qﬁ

Correct Answer :-Feelings and Emotions / HTa-IT 9T |a

21)
Question Stimulus :-

Which of the following techniques is defined as the process of comparing one’s business process and
performance with industry’s best practice from other firms? /ﬁl’Hﬁ gk ?Iﬂo_'-ﬁﬂi me
3R frreare=T &t gy ufasE & gt fw ST & adas uexi, & w1y ga-n o uftear & =u d ufeuria
B o1l 32

e Overall performance control / qaY freare frisror
e Costing / dTd fArufzor
e Benchmarking / CECHE R
e Balanced scorecard /mm
Correct Answer :-Benchmarking / CECHER
22)
Question Stimulus :-

For improvement in the quality of the product or service offered by a business, feedback from which of the
following is most important? U@ I GIRT, IeTG T HaT B oGl H YR & fog, o 9 forasd g
freht wfafear wew weawf 22



Shareholders / ARUREB
Employees / HHARY

Customers / JTgP

Managers / YdYH

Correct Answer :-Customers / YTgh
23)

Question Stimulus :-

Which of the following are key features of an organisation? /m 33 6 19 91 fareu Trsa 91 uqy
fa=ward §»

Social Invention only / Tt \TaTIT® Sifaspe
Accomplishing goals only / g a&!ﬁ G| URT HAT

Group efforts only / Rk qHg Uarg
All of the above / SWRIad gt

Correct Answer :-All of the above / SR gt

24)
Question Stimulus :-

The cost of capital is /q.i\_rn P ARTG

e used as an evaluation tool / T JedTh AT FEUH Ugad gidt 81
based on the present cost obligations of the firm /trﬁrgrrr P AT AT STeAdT U ST @?ﬁ %I
the cost of long-term investment /Eﬁﬁﬁ)‘lﬁ? ﬁ%*-zr & AN %I

the cost of maintaining the bureaucrats / W’Qﬂﬁ ) CEILY TG B AR %’I

Correct Answer :-used as an evaluation tool / Udh H\FQTW A F U H Ugdd ﬁ?ﬁ %I
25)
Question Stimulus :-

are macro-level action plans of an organisation for interacting with the environment in order to

achieve long term goals. / ﬁmﬁ&lﬁ &I UTd aﬂ%%ﬁnzamﬁm %Wﬂ,
SAITRYT 3 U YIS &1 GHIG-FR HRATS T gl &l

. Objectives/B%'W
e Strategies /W(ﬁ%{)

e Structure / HXIAT

e Actions / $r€a1‘§




Correct Answer :-Strategies / YUt (gl%)



